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Implementation Details

void init(int N, int[] H)
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(int L, int R, int D)

int max_towers
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Constraints

e 1< N <100000

e 1<Q <100000

e 1<H[]<10°(2E0<i<N-1)
e Hli]#H[j](2E0<i<j<N-1)
e 0SL<R<N-1

e 1<D<10°
Subtasks
1. (4 points) CHSE2 2% UESH= S4E £ (0 <k < N — 1)7t EMBICE

o 0<:< k:—1°._|E§i01| Cheh: H[i] < H[i + 1]o|2
o k<i<N —22 2Eq0chsh: H[;] > H[i + 1]0IC}

2. (11 points) @ = 1, N < 2000

3. (12 points) Q@ =1

4. (14 points) D = 1

5. (17 points) L=0,R=N —1

6. (19 points) 2= max_towers ZZ0f| sl D 2t0| SSICt.

7. (23 points) =7+ 21 H|$to| giCt.
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e linel: N Q
o line2: H[0O) H[1] ... H[N —1]
e line3+5(0<j<Q-1:LRD(jHWEES 23t L, R, DY)
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o linel+35(0<j<Q —1):5H®W max_towers $Z2| 2|EZ}

towers (3 of 3)



